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[1]#PCB 220 %2.3 %7.0
[I-1]E/ 7 aa b7 ==L 12 0.07 0.21
[12] Y7 oo 7 ==/ 54 0.5 1.5
RIS 64 0.6 1.8
47 ~hZ77avab 7 =) 48 0.7 2.1
[14-1]1 275 F—PCBD H H 3344-T b T 7un b7 ==L (#77) 0.31 0.008 0.021
[14-2] 275 F—PCBD H H 34457 hT77mab7=x=)L (#81) tr(0.02) 0.01 0.03
[1-5] =% 7mn b7 =)L 28 0.2 0.6
[1-5-112 753 —PCBD H 5 233444 7mub” =L (£105) 0.98 0.01 0.04
[1-521 2753 —PCBD H 5234454 7nunt ==L (#114) 0.089 0.007 0.018
[1-53] 2757 —PCBD 5 5 23445 X /uub 7=l (#118) 2.4 0.03 0.06
[1-5-4] =757 —PCBD 5 5 23445 Z/uub 7=\ (#123) 0.052 0.008 0.020
[1-55] 2757 —PCBD 5 5 334452 X 7uub 7=/l (%126) tr(0.015) 0.009 0.023
[1-6] ~F V7 oo b7 = =)L 9.7 0.08 0.24
[1-6-11 2753 —PCBD H 5 23344 5~FH 7ot r ==L (#156) 0.17 0.02 0.05
[1-62]1 2753 —PCBD H 5 233445 ~FV oo 7=, (#157) 0.04 0.01 0.04
[1-6-3] 275 F—PCBD 9 5 234455 ~FHF 7o b7 ==/ (#167) 0.066 0.009 0.023
[1-6-4] 275 F—PCBD 9 5 334455 ~FHF 7o b7 ==/ (#169) nd 0.008 0.020
RSV EEIEEY 1.8 0.05 0.14
[1-7-112 753 —PCBD H 5 223344 5-~7F47unt ==L (#170) 0.19 0.01 0.03
[1-721 2753 —PCBD H 5 2234455 ~7F47unt 7 ==, (#180) 0.34 0.01 0.03
[1-7-3] 275 F—PCBD 9 5 2334455 ~FZ 7o 7 ==L (#189) tr(0.011) 0.009 0.023
IRE VI e tr(0.23) 0.09 0.24
[19] /FZ7mutE”7 =)L tr(0.04) 0.03 0.08
[1-10] 77 oo 7 ==L 0.04 0.02 0.04
[2]HCB (~¥# 27 oo~ ¥L) 200 0.2 0.5
[11-1] a-HCH 25 0.03 0.08
[11-2] -HCH 2.8 0.04 0.11
[113]y-HCH (B4 : VT V) 8.9 0.04 0.10
[11-4] §-HCH 0.49 0.03 0.08
4R T oEV 7 == Lx—F NV (BREEN4HHI0ETDHD) 24 1.5 42
(14117 F 970V 7 ==L x—F L 0.93 0.05 0.15
[14-1-1]122'44-T b T 70 EVT7 = =)L =—T )L (#47) 0.57 0.02 0.06
[142] 0 F 7 uEV 7 ==L x—F L 0.27 0.04 0.10
[142-1]122 445X ZTuEP 7 == /LT —7 /L (#99) 0.17 0.01 0.04
[143] ~F YT nED T == )L =—F )L tr(0.1) 0.1 0.3
[14-3-1122' 4455 ~F P 70 ET 7 == )L=—F )L (#153) tr(0.04) 0.04 0.11
[14-32122'44' 5.6 ~F P 70 ET 7 == )L=—F )L (#154) tr(0.03) 0.03 0.07
[14-4] ~T X T a7 2=t —7 L tr(0.3) 0.2 0.4
[14-4-1122'33'456-~FT X7 0EY 7 = =)L —F /L (#175) nd 0.06 0.16
[14-4-2122' 3445 6-~FT X7 0EY 7 = =)L=—F /L (#183) tr(0.11) 0.06 0.15
(1451427 X 7 ueV 7 ==L x—F L 0.81 0.07 0.21
[14-6] / F7uET 7 == )L —F LI 2.9 0.2 0.6
(147 T H 7 uEV T == )Lx—F )L 19 0.8 2.4
[15] -V 7 )vAat s & Ak (PFOS) 4.6 0.1 0.3
[16] ~V 7 VA a# 27 & B (PFOA) 20 1.1 33
[17] R Z 7 oa_ P 100 0.1 0.3
[19]12,5,69,10-~F %7 uEL 7 u RFH M 2.6 %0.3 %0.9
[19-1]@-1,2,5,6,9,10~FF T aE7u RFh v 1.4 0.1 0.3
[192] 8-1,2,5,69,10-~F % T uE 70 KT h 0.4 0.1 0.3
[19-3]7-1,2,5,6,9,10~F F T aE7u RFh v 0.8 0.1 0.3
RO A VL7 XL~ 170 %0.24 %0.67
[20-1] £/ HifbF 72 VB 95 0.08 0.24
[202] PHifb T 7 Z LUk 30 0.03 0.07
[20-3] UL 7 X LUK 17 0.02 0.05
[204] 7 LT T X L UM 26 0.04 0.12
[20-5] U A kT T X LU 4.0 0.02 0.06
[20-6] ~F V(b7 ¥ L UM 0.33 0.01 0.03
[20-7] ~7 kT 7 X LU tr(0.04) 0.03 0.07
[20-8] & 27 ZHf{bTF 7 2 L tr(0.02) 0.01 0.03
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Ri]~F¥H$r7oprH13-v 3,400 [ 9,700 | 6,400 20 60
[22-1] X4 7maa7=)—)v 14 0.2 0.6
[222] X4 7maT =Y —) 80 0.5 12
23] RN T 7 1 U 3,300 %180 %550
[23-1] iRk T o 5 900 50 140
232 fiFby T B 1,300 60 190
233 iFEL R T 5 690 30 100
2341 R Y T U 400 40 120
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